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1. 2. 3. 4. 5.
6. 7. 8. 9. 10.

1.The responsibility for the accounting information contained in the financial reports
of a business entity ultimately rests wish the entity’s:
a. accountant
b. Controller
c. Chief executive officer

DBy

d. Treasurer
¢. None of the above

2.The basic financial statement, which is generally prepared first, is the:
a. Income Statement
b. Statement of Owner’s equity
c. Balance Sheet
d. Statement of Cash Flows
e. None of the above

3.An adjusting entry::
a. Involves parties external to the entity.
b. Is an external transaction
c. Is not recorded in any journal
d. Is an internal transaction
e. None of the above

. 4.The accrual basis of accounting is :
a. A requirement of the IRS
b. The same as the cash basis
c. An option available to management
d. Used only on the income statement
e. A generally accepted accounting principle

5.Accountants do not recognize that’s the value of the dollar changes over time. This
concept is called the :
a. Objectivity principle
b. Going concern concept
c. Cost principle
d. Business entity concept
¢. None the above
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6.The following account would not appear on the income stﬁtément of a service-type

company:

a. Purchase Discounts

b. Office Supplies Expense

¢. Rent Income

d. Revenue from Tees Earned
e. None of above

7.The purpose of internal control and system design is to:
a. Help management plan the company’s business activities
b. Help management control the company’s activities
c. Safeguard the company’s resources.
d. Provide an efficient accounting system
e. All of the above '

8.Which of the following primarily helps control cash receipts:
a. Bank reconciliations ’
b. Pretty cash funds
c. Voucher System
d. Cash registers -
¢. None of the above

9.Thrope Co. began operations in November 1998. On Dec. 31, 1998, $4,600 of
uncollectible accounts expense was recorded using the percentage of credit sales
method. During 1999, $3,900 of accounts were written off, $100 of accounts were
reinstated, and $6,200 of uncollectible accounts expense was recorded. On Dec. 31,
1999; Allowance for uncollectible Accounts Should have a credit balance of:
a. $2,200 b. $6,800 c. $7,000 d. $14,600

10.Valley, Inc., has a note wish a maturity value of 312,509. Valléy discounts the note
at a bank. The bank charges a 12% discount rate and would hold the note for 3
months. What is the amount of the discount change by the bank?
a. $375 b. $500 c. $750  d.$1,500
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= +During 2000, G Air Freight Company engaged in the following transactions relating to
property, plant and equipment assets : (20% ) o

Jan.]  Traded a computer which had a cost of $200,000 and accumulatcd
depreciation of $70,000 for a new airplane having a fair market value of
$1,900,000. G Company was required to pay $1,700,000 in addition to
giving the old computer.

Apr.l  Sold a building for $375,000. The builaing cost $450,000 and had an
accumulated depreciation of $150,000 on Jan.1, 2000. G Company using
the straight-line method of depreciation. The building was estimated to
have a useful life of 30 years and a salvage value of $30,000. ‘

Junie 30 Sold old forklifts for $500 as scrap. This equipment had been purchased on
July 1, 1995, for $12,000 ; they were estimated to have a useful life of §
years and salvage value of $800. Accumulated depreclatlon on Jan. l 2000,
was $10,080. The straight-line method is used. '

Sept.30 Traded on old airplane for a riew on¢ having a fair market pricc of
$500,000,000. The old airplane had been purchased on Feb.1, 1991, for
$2,000,000 had no salvage value, and was fully deprecnated as of Jan.1,
2000. G Company was required to pay $4 950 000 in addltlon to glvmg the
old airplane. -

Required : Prepare the entry to record each of the transactions hsted above. You may

also need an entry to record depreciation for part of the year. Assume that
G Company has not recorded any deprectatnon since Dec.31, 1999.
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% + Compute seven ratios that measure ability to earn profits and to pay debts for F
Company, whose comparative income statement follows (t‘l’l-% R 13T ]
AiLH  UTwREA) (208 ) ' :

F Company
Comparative Income Statement .
Years Ended December 31, 19X6 and 19X5

19X6 19X5

Net sales $174,000 $158,000
Cost of goods sold . 93,000 - __86,000
Gross profit 81,000 72,000
Selling and general expenses —48.000 —41.000
Income from operations 33,000 31,000
Interest expense - 21,000 10,000
Income before income tax 12,000 - 21,000
Income tax expense : _4,000 3000
Net income ﬁ, 2,000 i_ﬂm
Additional data : ' o I

19X6 ° 19X5 19X4
Total © $210,000 - $198,000 :  $184,000
Total Liabilities $96,000 ... $92,000 - $ 84,000
Common stockholders’ equity $100,000 $ 92,000 $ 86,000
Preferred dividends $ 3,000 $ 3,000 $ 3,000

Shares of common stock outstanding 2,000 2,000 2,000

Did the company’s operating performance improve or deteriorate during 19X6 ?
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